Name Date Task

Work out the amount of tiles needed to complete the task plus 10% for
wastage

Amount of tiles being used in length x amount of tiles being used in height =

Plus 10%

Amount+10%=

Work out the length/height of the area to be tiled in order to mark out on the
wall the edge of the tiled area

Length of a tile (L): mm

Height of a tile (H): mm

L x Amount of tiles being used in length = A

H x amount of tiles being used in height = B

Thickness of a tile spacer: mm

Amount of Joints:

Thickness of tile spacer x amount of joints in the Length = C

Thickness of tile spacer x amount of joints in the Height = D

Overall Length
A+C=

Overall Height

B+D=



